LLIKAGD HACTEHHbIV CEPVM LINEA WE /
WALL-MOUNTED CABINET OF LINEA WE SERIES

Macnopt. UHcTpykuma no c6opke / Passport. Assembly manual
KMBA 121.00.00-20MNC




K

OcHoBHble cBefieHus 00 usgenum

Lkad HacTeHHbIn cepum LINEA WE ToBapHoro 3Haka ITK (ganee — wkad) BbINOMHEH B CUCTEME
HECYLUMX KOHCTPYKUNIA cepumn 482,6 MM 1 NpefHa3HaYeH ans pa3MmeLleHns
TENeKOMMYHUKALNOHHOIO, 3N1eKTPOTEXHMYECKOr0, KPOCCOBOIr0 U MHOr0o 060PYA0BaHNS.

KOHCTPYKTMBHBIE OCOBEHHOCTU:

— KOMMakTHOCTb 1 Manblii BEC;

— IBEPb MOXET NIErKO 1 BLICTPO NepeHaBeLLBaThCS;

— XOpOoLLas eCTECTBEHHAs BEHTUAALMS, BO3MOXHOCTb YCTAHOBKM JONONHUTENbHbIX
BEHTUNATOPHbIX NaHenen cepun MNB.

LLIkad nocTaBnsieTcs OAHNUM rpy30BbIM MECTOM B Pa30O6PaHHOM COCTOSIHUN.

Texunuyeckue gaHHble

CTpykTypa 1 NpMMep YyCNoBHOIr0 0603Ha4YeHNst apTukyna wkada:

LWE3-06U64-GF — ITK LLkad LINEA WE 6U 600x450 mm aBepb meTann RAL7035

LWE - LWkad;

3 — uBeT kopnyca wkada:

3 — cepobii RAL 7035,

5 — yepHbIt RAL 9005;

6U — BbicOTa MOHTaxHoro npoguns B Unit (ot 6U go 15U);

64 — wnpwuHa x rnyéuHa kopnyca wkada (Mm): 550x350, 600x450, 600x600, 600x650;

MF — Tmn ncnonHeHnsa nepeaHen agepu:

GF — nepepHss ABepb CTEKNAHHAS,

MF - nepenHasa aBepb MeTannnyeckas,

PF - nepenHas nsepb nepdopurpoBaHHas.

OCHOBHbIE TEXHUYECKME XapakTepuUCTMKM Lkada ykasaHbl B Tabnuue 1.

B mecTe ycTaHoBku Lwikada onsa aKenayaraumm omkHa 6biTb HEB3PLIBOONACHAsA cpeaa, He Co-
[epxallas ToKoOnpoBOAALLEN MbIN U XMMUYECKN aKTUBHbIX BELLLECTB.

PacnonoxeHne n pasmep 3amLLLaeMoro NpoCTPaHCTBA COOTBETCTBYIOT rabapuTHbIM
pasmepam wkada.

OcCHOBHbIe TEXHMYECKMEe AaHHbIe NpUBeAeHbl B Tabnuue 2.

BHewHuin B, wkada noka3aH Ha pucyHke 1.

KomnnektHocTb

KomnnekT nagenus ykasaH B Tabnuue 3.

OnucaHne n cbopka KOHCTPYKLNN

KoHcTpykumsa wkada c6opHO-pasbopHas, cocTosllas N3 0CHOBaHWUM, pam 60KOBbLIX, ABEPY,

1 MOXET KOMMJIEKTOBATLCA 334HEN CTEHKOWN.

BHyTpu wikada Ha pamax 60KOBbIX 3aKPEMIATCA BEPTUKANbHbIE Npodunu. Mpn Heob-
XOAMMOCTU LWKad MOXHO YKOMMIEKTOBATbL AOMNONHUTENBHOM Napoi 19” BepTukanbHbIX NPOdUNen.

MocnepoBaTenbHOCTL COOPKU

BcTaBbTe raviku M6 3aknagHbie B 0TBepPCTUS GOKOBO paMmbl, 3akpenuTe npoduib
BEPTUKasbHBbIA C MOMOLLbIO BUHTOB M6x15 (prcyHoK 2).

Ckpenunte 60KOBbIE paMbl C OCHOBaHUAMN BUHTaMn M6x15 1 BuHTamm M4x8 ¢ wandammn
CTOMOPHbIMU 4 (PUCYHOK 3).

YcTaHoBKa CTEKJIIHHOW ABEPU

BcTaBbTe B OTBEPCTME PYYKM ABEPU 3aMOK, MPEABAPUTENBHO CKPYTMB C HErO ramky.
YCcTaHOBUTE PyyKy ABEpU C 3aMKOM B OTBEPCTME CTeK1a U 3aKpenuTe rankon (PUCYHOK 4).

[MpoBepbTE NPaBUILHOCTb YCTAHOBKM 3aMka. [Mpuv NnpaBuibHOM YCTAHOBKE 3aMOK A0JIKEH
NepeBOANTLCS B NMOJIOXEHNE «3aKPbITO» CBEPXY BHU3 6€3 0COBbIX YyCUNUIA.

[Mpwn ycTaHOBKE CTEKISIHHOM ABEPU, B CllyYae BOSHUKHOBEHUS TPYAHOCTEN C 3aKPbIBAHNEM,
npou3BeamnTe PeryanpoBKyY NOSIOXKEHUS CTEKNA N0 FOPU30HTaNM: ocnabbTe KPeNIeHus neTenb,
nepemMecTmUTe CTEKS10 6amxKe K Hapy>XHOW NMi0CKOCTN BOKOBOK paMbl M MOBTOPHO Nonpodyinte
3aKpbITh ABEPb (PUCYHOK 5).



K

YcTaHoBKa MeTannyeckom agepun’*

YcTaHoBKa 3amMka B METaINIMYECKYIO ABEPb MPOM3BOAUTCS MO aHaNornmn ¢ yCTaHOBKOM 3aMka
B BEPb CTEKJIAHHYIO.

Mpw ycTaHOBKE MeTaNIM4eCcKon ABEPY OTBEANTE BHU3 NMOABWXKHYIO YaCcTb NeTAn A0
COBMaZeHnst 0cen NeT/i C OTBEPCTUSIMU B OCHOBaHUSIX (PUCYHOK 6).

YCTaHOBUTE CTEHKY 3a4HIOI0 (HE BXOAMT B KOMIMJIEKT MOCTaBKM), COBMECTUB OTBEPCTUSA B CTEHKE
C OTBEPCTUSIMU Ha BOKOBbIX pamMax 1 3aPUKCUPOBAB ee LLECTbIO BUHTaMu M4x8 (pucyHOK 7).

Mocne okoH4YaHWMst COOPKM HaKEeNTe Ha IMLEBYIO MOBEPXHOCTb BEPTUKANIBHOr0 Npoduns
MapKMPOBOYHYIO NIEHTY, MPeABapUTENbHO NOArOTOBMIEHHYIO MO AJIMHE B COOTBETCTBUM C BLICOTOM
wkada B OHUTaX.

[ns 3akpennenus wkada Ha cCTeHe HEOOXOAVMO BbINOSIHUTL CreayoLlme AencTBUS:

— pa3MeTUTb Ha CTEHE YETbIPEe OTBEPCTUS C y4eTOM 3HadeHuin N u L (tabnuua 2);

— NPOCBEPNINTL MO Pa3MeTKe YeTbipe 0TBePCTUS Ha ry6uHy 70 MMm;

— 3abuUTb B 0OTBEPCTUA Ar0benu;

— BKPYTUTb B Alobenn wypynbl 6,3x50 MM ¢ nnockoi waiibom 6 Mm;

— HaBeCUTb LWKad Ha Lypynbl.

BHUMAHUE
KomnnekT kpenneHus K CTeHe B COCTaB KOMMNJEKTauum Wwkada He BXOAUT.

Mo 3aBepLieHn NoaroToBku Wwkada K aKkcnayaTaumm NnporsBeanTe MOHTaX KOHTYpa
3a3emneHns (pucyHok 8). Ana kpenneHns NpOBOAOB 3a3eMJIEHNS K LUMWUIIbKaM 3a3EMJIEHMS
ncnonbayloTcs raikv M6 (¢ pnaHuem).

[lns kpenneHus NPOBOAOB 3a3eMJIEHUS K MPODUIAM MOHTaXHbIM UCTOJb3YiTe 60nThl M6x14
(c dnaHuem) v rariku M6 (c pnaHuem):

— NPUCOEANHNTE OOVH KOHEL, MPOBOAA 3a3eMJIEHMS K HAMPABASIOLWEN, APYFON — K LUNUIbKEe
Ha OCHOBaHuK Wkada. NoBTOPUTL AaHHbIE AENCTBUS /19 BTOPOW HANpPaBsIoOLWEn;

— NPUCOEANHNTE OOVH KOHEL, MPOBOAA 3a3EMJIEHNS K LUMNWIIbKE ABEPW, APYrON — K LUNUIbKE
Ha OCHOBaHWK WKada*;

— NPUCOEANHNTE OOVH KOHEL, MPOBOAA 3a3EMJIEHMS K LUMWIIbKE Ha BEPXHEM OCHOBAHUM,
ApYron — Kk 6nunxarniei HanpasnsoLLEN.

Mepbl Ge3onacHoCTH
3ANPELLAETCA
BcTaBaTtb Ha wkady, BUMceTb Ha wkade.
MpuknagbiBaTh K WKady Nobyro MexaHUYeCcKyH Harpys3ky.
YctaHaBnuMBaTb 060pyAoBaHUE NpU BKIIOYEHHOM 3NIEKTPUYECKOM HamnpsikeHUM.
Akcnnyataumsa 6e3 NoAgKIIIOYeHUA K Lienn 3a3eMIieHus.

Bce paboTbl N0 MOHTaXy U TEXHUYECKOMY 0OCNY>XNBAHUIO U3AENNS OOSIXKHbI TPON3BOANTLCS
B 06€CTOYEHHOM COCTOSIHUM CMEeLManbHO 0Oy4eHHbIM NEPCOHANIOM C cobnioaeHnemM TpeboBaHmin
HOPMaTUBHO-TEXHMYECKOM JOKYMEHTaLMN B 061aCTV 3N1EKTPOTEXHUKM.

LLikad gomkeH 6biTb NOAKIOYEH K LIENY 3a3eMIIeHNS.

LLikad sBnseTcs HEPEMOHTONPUTOAHbIM.

Mpwn 06HapyY>XeHUN HEMCNPABHOCTM BO BPEMS FAPAHTUIAHOIO Cpoka HEOBX0AMMO 06paTUTLCS
B OpraHm3aumio, rae 6110 npuobpeTeHo nspenve, nn B NpeAcTaBUTENbCTBO.

Mpwr 06HapPY>XEHNM HEMCNPABHOCTM MO UCTEYEHUN FAPAHTUNHOIO CPOKa U3AeNve yTUAn3npoBaThb.

TpaHcnopTupoBaHue, XpaHeHUe U yTUAn3aums

TpaHcnopTUpoBaHMe N3Aenus AoMnyckaeTcs NodbIM BUAOM KPbITOro TpaHcrnopTa, obecneyn-
BaIOLLMM 3aLUUTY OT MEXAHUYECKUX MOBPEXAEHWI, 3arpPsA3HEHMS U MONaZaHns Baru, npu temne-
paType okpyxatoLero Bo3ayxa ot muHyc 50 °C po nnioc 55 °C.

* Ansi ucnonHeHui WwrkadoB ¢ MeTanIM4eckol ABepbIo.

3



K

YCnoBusi XpaHeHVst U3AENWIA — HABECHI UV MOMELLEHNS, FAE KonebGaHnsa TemnepaTypbl U Bnax-
HOCTM BO3/lyXa HECYLLECTBEHHO OT/IMHAIOTCS OT KonebGaHnin Ha OTKPLITOM BO3ayxe. Temnepartypa
[0JIKHa COOTBETCTBOBaTh Anana3oHy oT MuHyc 50 °C go nntoc 50 °C.

JeTtanu kopnyca wkada yTunmamposaTb C METATUHECKMM JIOMOM.

CTeks10 yTUAN3mpoBaTthb CO CTEK/SIHHBIM JIOMOM.

FapaHTum narotoButens

[apaHTUiHbIA cpoK akcnyaTaumm wkada — 3 roga co AHS Npoaaxu npu cobniogeHnmn
noTpedbuTenem ycrnoBuii aKCcnyaTaumm, XpaHeHus!, TPAHCNOPTUPOBAHMS U MOHTaxa.

Cpok cnyx6sbl wkada — 25 ner.

Basic product data
“ Wall-mounted cabinet of LINEA WE series of ITK trademark (hereinafter referred to as —
cabinet) is made in a system of load-bearing structures of the 482.6 mm series and is
designed to locate telecommunications, electrical, cross-connect and other equipment.
Design features:
— small size and light weight;
— the door can be easily and quickly re-hung;
— good natural ventilation, the possibility of installing additional fan panels of PV series.
The cabinet is supplied unassembled with one cargo item.

Specifications

The structure and example of reference designation of cabinet order code:

LWES3-06U64-GF — ITK cabinet LINEA WE 6U 600x450 mm metallic door RAL7035

LWE - cabinet;

3 — cabinet housing colour:

3 - gray RAL 7035,

5 — black RAL 9005;

6U — height of the mounting profile in Unit (from 6U to 15U);

64 — width x depth of cabinet housing, (mm): 550x350, 600x450, 600x600, 600x650;

MF - version of front door:

GF - the front door made of glass,

MF — the front door made of metal,

PF - the front door is perforated.

The main technical characteristics of the cabinet are listed in the table 1.

In the place of installation of the cabinet for operation, there must be a non-explosive
environment that does not contain conductive dust and chemically active substances.

The location and size of the protected space corresponds to the overall dimensions of the
cabinet

The main technical data are given in the table 2.

The appearance of the cabinet is shown in the figure 1.

Completeness of set
The completeness of the product is indicated in the table 3.

Description and structural assembly

Cabinets have prefabricated demountable structures, consisting of basements, side frames,
door, and can be equipped with back wall.

Inside the cabinet, vertical profiles are fixed on the side frames. If it is necessary, the cabinet can
be equipped with an additional pair of 19" vertical profiles.



K

Assembly sequence

Insert the M6 nutserts into the holes of the side frame, fix the vertical profile with M6x15 screws
(figure 2).

Fasten the side frames to the basements with M6x15 screws and M4x8 screws with tab washers
4 (figure 3).

Glass door installation

Insert the lock into the hole of the door handle, having previously unscrewed the nut from it.
Install the door handle with the lock into the glass hole and secure with a nut (figure 4).

Check that the lock is installed correctly. When properly installed, the lock is moved to the
"closed" position from top to bottom without much effort

When installing a glass door, in case of difficulties with closing, adjust the position of the glass
horizontally: loosen the hinges, move the glass closer to the outer plane of the side frame and try to
close the door again (figure 5).

Installation of metallic door*

The installation of a lock in a metallic door is carried out by analogy with the installation of a lock
in a glass door.

When installing a metallic door, pull down the movable part of the hinge until the axes of the
hinge coincide with the holes in the basements (figure 6).

Install the back wall (user supplied) by aligning the holes in the wall with the holes on the side
frames and fixing it with six M4x8 screws (figure 7).

After the end of the assembly, stick a marking tape on the front surface of the vertical profile,
previously prepared along the length in accordance with the height of the cabinet in the units.

To fix the cabinet on the wall, follow these steps:

— mark four holes on the wall, taking into account the values N and L (table 2);

— drill four holes according to the marking to a depth of 70 mm;

— Hammer dowels into the holes;

— screw 6.3x50 mm screws with a 6 mm flat washer into the dowels;

— hang the cabinet on the screws.

ATTENTION
The wall mounting kit is not included in the cabinet package.

Upon completion of the preparation of the cabinet for operation, install the grounding circuit
(figure 8). M6 nuts (with flange) are used to attach the grounding wires to the grounding pins.

To attach the grounding wires to the mounting profiles, use M6x14 bolts (with flange) and M6
nuts (with flange):

— attach one end of the grounding wire to the rail, the other to the stud on the basement of the
cabinet. Repeat these steps for the second rail;

— attach one end of the grounding wire to the door stud, the other to the stud on the basement
of the cabinet *;

— attach one end of the grounding wire to the stud on the upper basement, the other to the
nearest rail.

Safety precautions
VORBIDDEN
To stand on the cabinet, to hang by the cabinet. To apply any mechanical load to the cabinet.
To install the equipment when the electrical voltage is on. Operation without connection
to a ground circuit.

All work on installation and maintenance of the product should be carried out in a de-energized
state by specially trained personnel in compliance with the requirements of reference
documentation in the field of electrical engineering.

The cabinet should be connected to the grounding circuit.

* For versions of cabinets with a metallic door.



K

The cabinet is non-repairable

If a malfunction is detected during the warranty period, it is necessary to contact the
organization where the product was purchased or the representative office.

If a malfunction is detected after the warranty period, dispose the product.

Transport, storage and disposal

Transportation of product is allowed by any type of covered transport that provides protection
against mechanical damage, pollution and moisture ingress, at ambient tem-perature from
minus 50 °C to plus 50 °C.

Storage conditions of products are canopies or rooms where fluctuations in temperature and
humidity are not significantly different from fluctuations in the open air. The temperature should
correspond to the range from minus 50 °C to plus 50 °C.

Dispose the cabinet housing parts with scrap metal

Dispose glass with a glass scrap

Manufacturer's warranty

The warranty period of the cabinet is 3 years from the date of sale, if the consumer observes the
conditions of transportation, storage, installation and operation.

Service life of cabinet — 25 years.

Tabnuua / Table 1

HavmeroBaHve nokasatens / Parameter denomination 3Havenme / Value
Temneparypa akcnnyarauum / Operating temperature (—10... +45) °C
OTHocuTenbHas BRaxHocTb / Relative humidity Jlo 80 % npu 25 °C / Up to 80 % at 25 °C
CreneHb 3awuTbl kopnyca no FOCT 14254 (IEC 60529) / Degree of IP 20
protection of housing according to IEC 60529
CTeneHb 3aluThl OT BHELIHETO MEXaHWUYECKOro BO3AEMCTBUS N0 IK 08 — ansi wkados co cTeknsHHbIMK ABepsMu / for cabinets with
'OCT IEC 62262 / Degree of protection against external mechanical impact | glass doors
according to IEC 62262 IK 10 — nna wkadbos 6e3 cTeknsHHbIX aBepel / for cabinets without
glass doors
Liset / Colour RAL 7035 (cepbiii) unn RAL 9005 (wepHbiii) / RAL 7035 (gray)
or RAL 9005 (black)
MakcumanbHas ctatuyeckas Harpyska, kr / Maximal static load carrying 50 kr (Ha ctene), 100 kr (Ha onopax) / 50 kg (on the wall), 100 kg
capacity, kg (on supports)
Tabnvua / Table 2
WcnonHenve / Version | Beicota, U/ |H/H, |B/B, |B1/B1,|N/N, |L/L, Macca npu ucnonHenum fgepw, kr / Weight, kg,
Height, U mm mm mm mm mm when the door made of following materials
Merannmnyeckas / CreknsHHas / Glass
Metallic
LWEX-06U53-YY 6 320 350 304 155 530 8.12 8.45
LWEX-09U53-YY 9 450 285 9.67 10.23
LWEX-12U53-YY 12 585 420 11.26 12.07
LWEX-15U53-YY 15 715 550 12.82 13.84
LWEX-06U64-YY 6 320 450 408 155 555 11.02 11.32
LWEX-09U64-YY 9 450 285 12.719 13.57
LWEX-12U64-YY 12 585 420 14.95 15.83
LWEX-15U64-YY 15 715 550 16.87 18.26




K

MpoponxeHne Tabnuupl 2 / Continuation of the table 2

Wcnonxenme / Version | Boicora,U/ |H/H, |B/B, |B1/B1,|N/N, |L/L Macca npu ucnonHexuu fsepu, kr / Weight, kg,
Height, U mm mm mm mm mm when the door made of following materials
MeTtannuyeckasi / CreknsiHHas / Glass
Metallic
LWEX-06U65-YY 6 320 520 478 155 555 12.35 12.65
LWEX-09U65-YY 9 450 285 14.44 15.06
LWEX-12U65-YY 12 585 420 16.60 17.48
LWEX-15U65-YY 15 75 550 18.86 19.82
LWEX-06U66-YY 6 320 600 558 155 555 13.86 14.36
LWEX-09U66-YY 9 450 285 16.12 16.81
LWEX-12U66-YY 12 585 420 18.46 19.35
LWEX-15U66-YY 15 75 550 21.07 22.37
LWEX-06U67-YY 6 320 650 608 155 555 14.82 15.11
LWEX-09U67-YY 9 450 285 17.18 17.81
LWEX-12U67-YY 12 585 420 19.65 20.53
LWEX-15U67-YY 15 75 550 22.02 23.16

lMpumeyaHus
1 X — 3 — nokpbitie MMNK RAL 7035 ugeT cepbiit;
5 — nokpbitie MK RAL 9005 LBeT YepHbIid;
2 YY — TN UCNONHeHWs nepeaHeit ABEpY B COOTBETCTBIM C 0003HAYEHNEM:
GF — nBepb cTexno;
MF — nBepb MeTan.
Notes
1 X — 3 — PPK RAL 7035 coating gray colour;
5 — PPK RAL 9005 coating black colour;
2 YY — version of the front door in accordance with the designation:
GF — glass door;
MF — metallic door.

Tabnuua / Table 3
HanmenoBaxue / Denomination Konuyectso/ | Haumerosaxue / Denomination Konuyectso, wr. /
Quantity Quantity, pcs
KomnnekTaums wkada: / Completeness of the cabinet: CocTas kpenexa 1 akceccyapos: / Fasteners and asseccoires set:
OcHosanme / Basement 2wr./2pcs. | 3amok / Lock 1
Pama 6okosast / Side frame 2wr./2pcs. | Jlenta mapkuposouHas / Flagging tape 1
[lseps / Door fwr./1pcs. | Bunt M6x15 / Screw M6x15 20
24*
Mpodunb BepTukanbHbid 19" / 19"vetical | 2 wr. /2 pes. | Maiika M6 (3aknagHas) / Nut M6 (nutsert) 4
profile 4ur. /4 pcs” 8
Kpenex u akceccyapbl / Fastenersand | 1 komn. /1 set | Bunt M4x8 (camopes) / Screw M4x8 (self tapper ) 8
asseccoires
Macnopt / Passport 19k3. /1 copy | Metnu ong cTexknantoii asepu / Hinges for glass door 2%*
Pyuka nsepu / Door-handle 1**
LLlaii6a M6 / Washer M6 2
MpoBsog, 3a3emnenus / Grounding wire 4
LLlaii6a cronopHas 4 / Tab washer 4 8
Bont M6x14 (c dnanuem) / Bolt M6x 14 (flanged) 3
[aitka M6 (¢ dpnaHuem) / Nut M6 (flanged) 8
* [inst ucnonHenmit rabaputa 600x650 Mm.
** [In9 MCNONHEHWI CO CTEKNSIHHON ABEPBIO. /
* For versions with dimension of 600x650 mm.
** For versions with glass door.

7



Bwug cnepeaw / Front view

550/600

Bupa c3aan 6e3 cteHku /

Back view without wall
z
1 — [1Bepb MeTannmyeckast / Metallic door b
2 — [igepb co cteknom / Glass door
3 — OcHoBaHve / Basement 450
4 — Mpodunb BepTUKaNbHbIN / Vertical profile 465
5 — Pama 6okogas / Side frame
6 — Crenka 3aHss / Back wall L

PucyHok 1 — Brewwnuii Bup, / Figure 1 — Appearance

[aka M6 (3aknagHas) /
Nutsert M6

p0000000000%

Screw M6x15

PucyHok 2 / Figure 2

B1

Bua ceepxy/cHuy /
Top /bottom view

140

35

+

10

[

SesmEsecoeees
S

m SSSeerereeaes

163

226,5

453




K

BuHT M6x15 /
Screw M6x15

LLlan6a ctonopHas 4 / Tab washer 4

BuHT M4x8 (camopes) /
Self-tapping screw M4x8

Kpenex M6 /
Fastener M6
BxoguT B coctaB
6okoBoW pambl /
Included in the set
of side frame

PucyHok 3 / Figure 3

Pyuka asepu / Door handle

Crekno / Glass MNetnsa / Hinge

PucyHok 4 / Figure 4

Crekno / Glass

Pucyrok 5 / Figure 5



Lai6a &6 / Washer

190000000000000000001000000000000000000000010

0000000000 000000000000000

cmmommmmmmmmommcmm/ammommu
———

1000000000000000000000000000000000000000001080 )

PucyHok 6 / Figure 6
BuHT M4x8 (camopes) /

Screw M4x8 (self tapper

CTteHka 3agHsis / Rear wall

MpoBopg 3a3emnexus / Grounding wire
Bont M6x14 (c donaHuem) / Bolt M6x14 (with flange)

| Manka M6 (c donaHuem) / M6 nut (with flange)

lMpumeyanue — Ha paHHoM pucyHke Bepb He nokasaHa / Note — The door is not shown in this figure.
PucyHok 8 / Figure 8

10



K

B nepuoa rapaHTuUinHbix 0693aTeNbCTB U NMPY BO3HUKHOBEHUW NPeTeH3uii obpalaTbes

K npoAaBsLy nav B opraHndaumnn:

During the warranty period and in the event of claim, contact the seller or the organizations:

Poccuitckan ®egepauus

000 «U3K XONAUHM

142100, MockoBckasi obnacTb,

r. Moponbek, npocnekT NleHuHa, gom 107/49, ocouc 457
Ten./cbakc: +7 (495) 542-22-27

info@iek.ru, info@itk-group.ru

www.iek.ru, www.itk-group.ru

MOHronus

«U3K Monronusi» KOO

Ynan-batop, 20-1 yuactok BasiHronckoro paiioHa,
BanagHasi 30Ha NpombILLneHHoro paioHa 16100,
MockoBckas ynuua, 9

Ten.: +976 7015-28-28

dakc: +976 7016-28-28

info@iek.mn

www.iek.mn

Pecny6nuka MonpoBa

«N3K TPAN[» 0.0.0.

MD-2044, r. Kuwwunes, yn. Mapus [paraH, 21
Ten.: +373 (22) 479-065, 479-066

dake: +373 (22) 479-067

info@iek.md; infomd@md.iek.ru
www.iek.md

CTtpaHbl A3uu

Pecny6nuka KasaxcraH

TOO «TA U3K. KA3»

040916, AnmatuHckas obnacTb, Kapacanckuin panoH,
c. Wprenu, mkp. Aiokon 71A

Ten.: +7 (727) 237-92-49, 237-92-50

infokz@iek.ru

www.iek.kz

YKPAUHA

000 «TOPrOBbIA IOM
YKPONEKTPOKOMMIIEKT»
08132, Kuesckas obnactb,
KneBo-CBATOLUMHCKUIA paiioH,
r. Buwresoe, yn. Kuesckas, 6B
Ten.: +38 (044) 536-99-00
info@iek.com.ua

www.iek.ua

CrpaHbl EBponbl

NartBusa

000 «IEK Northern Europe»

Anpec: Ponaxckuii kpait, CTonvHbckas BoriocTb, Pymbyna,
ynuua Mackasac 497, LV-2121

Ten: +371 67205159, +371 28684723

E-mail: infoneu@iek.group

Caiit: www.iek.group

Pecny6nuka Benapycb

000 «U3K XONAUHM»

(MpencrasutenscTBo B Pecnybnuke Benapyck)
220025, r. MuHck, yn. WadapHsHckas, a. 11, nom. 36
Ten.: +375-17-363-44-12(11)

iek.by@iek.ru

www.iek.ru

11

Russian Federation

«|IEK HOLDING» LLC

107/49 Prospect Lenina, office 457,
Podolsk, Moscow region, 142100
Tel./fax: +7 (495) 542-22-27
info@iek.ru, info@itk-group.ru
www.iek.ru, www.itk-group.ru

Mongolia

«IEK Mongolia» LLC

ul. Moskovskaya, 9, Zapadnaya zona
promyshlennogo rayona 16100, 20 uchastok
Bayangolyskogo rayona, Ulan Bator

Tel.: +976 7015-28-28

Fax: +976 7016-28-28

info@iek.mn

www.iek.mn

Republic of Moldova

«|lEK TRADE» L.L.C.

21 Maria Dragan str., Chisinau, MD-2044
Tel.: +373 (22) 479-065, 479-066

Fax: +373 (22) 479-067

info@iek.md; infomd@md.iek.ru
www.iek.md

Asian countries

Republic of Kazakhstan

«TH IEK.KAZ» LLP

71A mkr. Akzhol, s. Irgeli,

Karasaiskiy district, Aimaty region, 040916
Tel.: +7 (727) ) 237-92-49, 237-92-50
infokz@iek.ru

www.iek.kz

Ukraine

«TRADE HOUSE

UKRELEKTROKOMPLEKT» LLC

ul. Kievskaya, 6 V, Vishnyovoe, Kyivo-Svyatoshinskiy rayon,
Kyiv oblast, 08132

Tel.: +38 (044) 536-99-00

info@iek.com.ua

www.iek.ua

Europe

Latvia

SIA «IEK Northern Europe»

Address: Maskavas iela 497, Rumbula, Stopinu pagasts,
Ropazu novads, LV-2121

Tel: +371 67205159, +371 28684723

E-mail: infoneu@iek.group

Web: www.iek.group

Republic of Belarus

LLC «IEK HOLDING»

(Representative office in the Republic of Belarus)
220025, Minsk, ul. Shafarnyanskaya, d. 11, room 636
Tel.: +375-17-363-44-12(11)

iek.by@iek.ru

www.iek.ru



K

CeupetenbctBo 0 npuemke / Acceptance certificate

Lkad HacTeHHbIn cepun LINEA WE n3rotoeneH B COOTBETCTBUM C AENCTBYIOLLLEN TEXHUYECKOM
LOKYMEHTauMen n Npu3HaH rogHbiM s aKcnayatauun.

MHdopmaums 06 06s13aTeNlbHOM NOATBEPXAEHNM COOTBETCTBUSA NPOAYKLMN, B TOM YMCIe
CBELEHMS O HOMepe AOKYMEHTa, NOATBEPXAAIOLLErO Takoe COOTBETCTBUE, O CPOKE ero AeNCTBUS
1 06 opraHu3aumu, ero BbiaasLUel, pasMmeLleHa Ha cainTe www.itk-group.ru B pazgene npoaykums.

Mecsu, n rog, N3roToBNeHUs ykadaHbl Ha n3nenun B rpade «JATA».

Wall-mounted cabinet of LINEA WE series is manufactured in accordance with the current
technical documentation and is recognized as fit for use.

Information about obligatory product conformity assessment, including data on the number of
document that confirms such a conformity, data on the term of validity and on the organization that
this document have been issued is posted on the website www.iek.ru in the section "Products”.

The month and year of manufacture are indicated on the product in the "DATE" column

LLrtamn OTK / QC stamp

[Harta npogaxwu / Date of sale

LLtamn marasuHa / Store stamp

MpouseegeHo: OO0 «MIK XONONHM» Pd, 142100, MockoBckasi obn., 1. [Mogonbck, np-T
IleHuHa, o. 107/49, odb. 457 Appec npoussoactsa: P®, 301030, Tynbckas obr., . FlcHoropck,
yn. IN. JobpblHuHa. A. 1-b

Made by: LLC "IEK HOLDING" 107/49 Prospect Lenina, off.457, Podolsk, Moscow reg.,
Russian Federation, 142100 Manufactured: P. Dobrinina str. 1-B, Yasnogorsk, Tula reg.
Russian Federation, 301030

@C M3pgaHue / Version 2

12

E

E



